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" 23 " okTsiops 20 20 1.




KOJIMYECTBO JIeTel
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cajiaT U3 OBOLLEH 0,001 0,020] 0,020 0,010
ryjsil U3 msca 0,001 0,050 0,010
MIWEeHWYHas Kawa 0,001 0,050 0,010
KOMIMOT U3 cyXo(p 0,030{ 0,010
10JIOKH 0,100
xJjied 0,030
Wroro Ha | yenoseka | 0,030[ 0,003 0.020] 0,020 0,050 0,050 0,100 0,030 0,030 0,010
WToro k Bblpaue 10,98 1,10 7,32 7,32 18,30 18.30 36,60 10,98 10,98 3.66
Llena 50 20 220 60 40 60 30 60 55 60 75 80 500 500 80 27 100 300 600 60 180 120 1100
Ha cymmy: 5491 21,96 439.21 219,6 1098 9150 2928 1098 6588 219.6
CTOUMOCTb JI/JIHS 60,96




YTBepxaaro:

MEKOY "Mamxaaucekass COII um. Temupxanosa 3./L.
Jupexrop g)

MEHIO-TPEBOBAHUE

Ha BbIAa4vy NPOAYKTOB MHTAHHS

" 24 " okrsiopr 20 20 r.




KOJIMYECTBO AeTeit] 269
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cajiaT U3 OBOLUEH 0,001 0,020 0,020 0,010
TyJsiil U3 Msica 0,001 0,050 0,010
MILIEHAYHAas Katla 0,001 0,050 0,010
KOMIIOT M3 cyxodhp : 0,030{ 0,010
I070KH 0.100
x51ed 0,030
Wroro Ha | uenoseka | 0,030 0.003 0,020 0,020 0,050 0,050 0,100 0,030 0,030{ 0,010
HToro K Bblgaue 8,04 0,80 5.36 5.36 13,40 13,40 26,80 8,04 8,04 2,68
Llena 50 20 220 60 40 60 30 60 55 60 75 80 500 500 80 27 100 270 600 60 180 120 1100
Ha cymmy: 402 16 321,6f 160.8 804 6700 2144 804 4824 160.8
CTOMMOCTD 1/ J1HS 60.73




